Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER — IIs EXAMINATION — WINTER 2015

Subject Code: 331102 Date: 04 - 12-2015
Subject Name: DIGITAL ELECTRONICS

Time: 10:30 AM TO 01:00 PM Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. Each question carry equal marks (14 marks)

Q.1 (a) Explain NAND, NOR, EX-OR logic gate with symbol, operation and truth

table.
Ys. 1 3 NAND, NOR, EX-OR dl%s dle Rlolld, Auret uel 28 26l WA 09
ALl
(b) Write a short note on S R flip flop and D flip flop.
o s R slu scllu ual D sellu scllu QR gsollet cul. 00
Q.2 (a) Explain ROM, PROM, and EPROM in detail.
Ygl.? ¥ ROM, PROM, EPROM [(Aolclellr dHastel. 09
(b) Answer the following
(1Y (BA6)I6=( )2=( ) =()10
(i) (130)10=( Y16 =( B =( )2
ol ofld Yool aallol Ul 09
() (3A6)16 = ( )2 = ( )8 = ( )0
(i) (130)10 = ( )16 = ( )8 = ( )2
OR
(b) Answer the following

(1) Explain Excess-3 code with example.
(2) Explain 1’s and 2’s complement with an example.

o o{lA yerel aclol L 09
(1) Excess-3 5l GELSWL WS Ml
() 1's Aal 2's SlHEA{lHoe GELE21QL AUE UMl

Q3 {a) Simplify the following using Boolean algebra :
(DY=(A+CHA’+B(B+0()
(2) Y=ABC + A’B + ABC”

us. 3 A offdaet Aol Heedl PAota] UE U UL 09
()Y = (A+C )(A + B}(B + C)

(2)Y = ABC + A’'B + ABC’
(b) Explain Parity Generator and Checkers in detail.

ol UJE aot222 wel As2el ([Qotdalrk Ul 09

OR
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Q3
us. 3 o
(b)
Gl
Q4 (3
sy o
(b}
ol
Q4 (a)
us.y
(b)
Gl
Q5 (a)
us.u o
(b}
Gl
Qs (a
sy Ao
(b}
ol

Simplify following function using K-map.
(1) f( A,B,C,D)=%m (1,4,6,8,9,10,11)
(2) £ ( A,B,C)=2m (0,4) +d(7.3,1)

K-Auell Heeell MAoile] ALE U 20Ul
(1) f ( AB,C,D) ==m (1,4,6,8,9,10,11)
(2) f ( AB,C) =Em (0,4) +d(7,3,1)

Draw and Explain Decoder in detail.
dlsls? €121 ual [Aoldellr uHtall,

Perform following binary arithmetic operation:
() 111x110= 2 (3)11011 =101 = 2

(2) 11111 - 1011= 2 (4)111100 + 11100= 2
o{lAslle] ollastd] Aundls sluz st 532,

(1) 111 x 110 = 2 (3) 1011 = 101 = 2
(2) 11111 — 1011= 2 (4) 111100 + 11100= 2
Draw and Explain Demultiplexer in detail.

Slcdludsuz €131 el [Qotdalrk el

OR
State and prove De morgon’s theorem.

Sl oot [y cull wal Al A,
Draw and Explain TTL with open collector output.
TTL U8 lluct sAs2 uBayz €l ol umencl

Draw and Explain Binary Ladder Network D/A convertor in detail.
sllaet3l AsR dead D/A sola@R €1l ual [doldalr umencl.
Write a short note on Ring counter.

ot s1GeteR (AW ¢sollu cull

OR
Draw and Explain successive approximation A/D convertor.

AsAdla AYlellA et A/D $o1dB2 €13l Al yHH AL

Draw and Explain Serial In Serial Out Shift resistor.
Aldlac ot A3t 262 sz 2R@22 1A Wl uxenal,

e sfe sfeske sk sfe sk sk sfeoskeshe sk
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